Czechoslovak Mathematical Journal

Ching-Hsiang Hung; Thomas L. Markham

The Moore-Penrose inverse of a partitioned matrix $M = \begin{pmatrix} A & 0 \\ B & C \end{pmatrix}$

Czechoslovak Mathematical Journal, Vol. 25 (1975), No. 3, 354-361

Persistent URL: http://dml.cz/dmlcz/101330

Terms of use:

© Institute of Mathematics AS CR, 1975

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project $\mathit{DML-GZ: The Czech Digital Mathematics Library } \texttt{http://dml.cz}$

THE MOORE-PENROSE INVERSE OF A PARTITIONED MATRIX

$$M = \begin{pmatrix} A & 0 \\ B & C \end{pmatrix}$$

CHING-HSIANG HUNG and T. L. MARKHAM, Columbia (Received January 3, 1974)

I. INTRODUCTION

If A is an $m \times n$ matrix over the complex field, then the Moore-Penrose inverse of A, denoted A^+ , is an $n \times m$ matrix such that

$$(1.1) AA^{+}A = A$$

$$(1.2) A^+ A A^+ = A^+$$

$$(1.3) (AA^+)^* = AA^+$$

$$(1.4) (A^+A)^* = A^+A.$$

Any matrix which satisfies equation (1.i) is called an (i)-inverse of A. A generalized inverse of A will indicate a matrix X satisfying some of the conditions (1.1) through (1.4).

If

$$M = \begin{pmatrix} A & 0 \\ B & C \end{pmatrix}$$

and M is invertible, then M^{-1} is lower block triangular. It is natural then to ask the following question: For an $m \times n$ partitioned matrix

$$(1.5) M = \begin{pmatrix} A & 0 \\ B & C \end{pmatrix},$$

when is the Moore-Penrose inverse also lower block triangular? C. MEYER has given necessary and sufficient conditions for this question in [2].

We first give a formula for computing M^+ , and then we obtain Meyer's result as a corollary to this general expansion. We also examine some other cases which occur rather naturally.

In [3], Meyer considers square matrices which are upper triangular and he determines conditions for a generalized inverse to be upper triangular. Moreover, he gives explicit formulas for determining these inverses in some special cases.

Throughout our paper, we shall restrict our attention (except for a fleeting reference to i-inverses) to the Moore-Penrose inverse. We shall use the following well-known facts in our work [e.g., see 4].

$$(1.6) A^{+} = A^{*}(AA^{*})^{+} = (A^{*}A)^{+} A^{*}$$

$$(1.7) (AA^*)^+ = (A^+)^* A^+$$

(1.8) If N(A) denotes the null column space of A, then $N(A) \subset N(B)$ if and only if $B = BA^+A$.

II. TWO LEMMAS

In order to prove our theorem, we shall need the following lemmas.

Lemma 1. For M partitioned as in (1.5), we have

$$M^+ = \begin{pmatrix} A^+ & B^*L^+ \\ 0 & C^*L^+ \end{pmatrix},$$

 $L = BB^* + CC^*$, if and only if $AB^* = 0$.

Proof. Assume

$$M^+ = \begin{pmatrix} A^+ & B^*L^+ \\ 0 & C^*L^+ \end{pmatrix}.$$

Then by (1.1), we obtain

$$(2.1) BA^{+}A + LL^{+}B = B.$$

By the definition of L, we have $N(L) \subseteq N(B^*)$, so $LL^+B = B$ by (1.8). Then (2.1) implies $BA^+A = 0$, and hence $BA^+ = 0$. But $BA^+ = 0$ is equivalent to $AB^* = 0$, so the necessity is complete.

For the sufficiency, we will use relation (1.6). We have $M^+ = M^*(MM^*)^+$, so

$$\begin{pmatrix} A & 0 \\ B & C \end{pmatrix}^+ = \begin{pmatrix} A^* & B^* \\ 0 & C^* \end{pmatrix} \begin{pmatrix} AA^* & 0 \\ 0 & BB^* + CC^* \end{pmatrix}^+ \text{ since } AB^* = 0.$$

Thus

$$M^{+} = \begin{pmatrix} A^{*}(AA^{*})^{+} & B^{*}L^{+} \\ 0 & C^{*}L^{+} \end{pmatrix},$$

which gives the desired result.

Lemma 2. If M is partitioned as in (1.5), then

$$M^+ = \begin{pmatrix} K^+A^* & K^+B^* \\ 0 & C^+ \end{pmatrix}$$

where K = A*A + B*B if and only if B*C = 0.

Proof. For the necessity, use (1.1) to obtain $BK^+K + CC^+B = B$, which implies $B^*C = 0$. For the sufficiency, again we employ (1.6).

III. THE MOORE-PENROSE INVERSE OF
$$M = \begin{pmatrix} A & 0 \\ B & C \end{pmatrix}$$

We first determine the Moore-Penrose inverse of M given in (1.5).

Theorem. Let

$$M = \begin{pmatrix} A & 0 \\ B & C \end{pmatrix}.$$

Then

$$M^{+} = \begin{pmatrix} K^{+}A^{*} - K^{+}B^{*}CF & K^{+}B^{*} - K^{+}B^{*}CH \\ F & H \end{pmatrix},$$

where

$$K = A^*A + B^*B,$$

$$D = -AK^+B^*C,$$

$$E = C - BK^+B^*C.$$

$$T = D^*D + E^*E,$$

$$S = K^+ B^* C(I - T^+ T),$$

$$F = T^+D^* + (I - T^+T)(I + S^*S)^{-1} C^*BK^+(K^+A^* - K^+B^*CT^+D^*),$$

and

$$H = T^{+}E^{*} + (I - T^{+}T)(I + S^{*}S)^{-1} C^{*}BK^{+}(K^{+}B^{*} - K^{+}B^{*}CT^{+}E^{*}).$$

Proof. CLINE [1] has shown that if $UV^* = 0$, then

$$(U+V)^{+} = U^{+} + (I-U^{+}V)[G^{+} + (I-G^{+}G)QV^{*}(U^{+})^{*}U^{+}(I-VG^{+})],$$

where $G = V - UU^+V$, $Q = [I + (I - G^+G)V^*(U^+)^*U^+V(I - G^+G)]^{-1}$. Now, let

$$U = \begin{pmatrix} A & 0 \\ B & 0 \end{pmatrix}$$
 and $V = \begin{pmatrix} 0 & 0 \\ 0 & C \end{pmatrix}$.

Then

$$\begin{pmatrix} A & 0 \\ B & C \end{pmatrix} = U + V$$

and $UV^* = 0$. Hence, Cline's theorem is applicable. By Lemma 2,

$$U^+ = \begin{pmatrix} K^+A^* & K^+B^* \\ 0 & 0 \end{pmatrix},$$

where K = A*A + B*B. Thus,

$$G = \begin{pmatrix} 0 & -AK^+B^*C \\ 0 & C - BK^+B^*C \end{pmatrix}.$$

Let $D = -AK^{+}B^{*}C$ and $E = C - BK^{+}B^{*}C$; then we have

$$G = \begin{pmatrix} 0 & D \\ 0 & E \end{pmatrix}.$$

Therefore, by Lemma 1 and the fact $G^+ = (G^{*+})^*$, we get

$$G^+ = \begin{pmatrix} 0 & 0 \\ T^+D^* & T^+E^* \end{pmatrix},$$

where $T = D^*D + E^*E$. Hence,

$$I - G^+G = \begin{pmatrix} I & 0 \\ 0 & I - T^+T \end{pmatrix}.$$

Thus,

$$U^{+}V(I - G^{+}G) = \begin{pmatrix} 0 & K^{+}B^{*}C(I - T^{+}T) \\ 0 & 0 \end{pmatrix}$$

and

$$Q = \begin{pmatrix} I & 0 \\ 0 & (I + S*S)^{-1} \end{pmatrix},$$

where $S = K^+B^*C(I - T^+T)$, and

$$I - VG^+ = \begin{pmatrix} I & 0 \\ -CT^+D^* & I - CT^+E^* \end{pmatrix}.$$

Now

$$U^{+}(I - VG^{+}) = \begin{pmatrix} K^{+}A^{*} - K^{+}B^{*}CT^{+}D^{*} & K^{+}B^{*} - K^{+}B^{*}CT^{+}E^{*} \\ 0 & 0 \end{pmatrix},$$

so

$$G^+ + (I - G^+G) QV^*(U^+)^* U^+(I - VG^+) = \begin{pmatrix} 0 & 0 \\ F & H \end{pmatrix},$$

where

$$F = T^{+}D^{*} + (I - T^{+}T)(I + S^{*}S)^{-1} C^{*}BK^{+}(K^{+}A^{*} - K^{+}B^{*}CT^{+}D^{*})$$

$$H = T^{+}E^{*} + (I - T^{+}T)(I + S^{*}S)^{-1} C^{*}BK^{+}(K^{+}B^{*} - K^{+}B^{*}CT^{+}E^{*}),$$

and

$$I - U^+ V = \begin{pmatrix} I & -K^+ B^* C \\ 0 & I \end{pmatrix}.$$

Therefore

$$(I - U^{+}V) [G^{+} + (I - G^{+}G) QV^{*}U^{+*}U^{+}(I - VG^{+})] =$$

$$= \begin{pmatrix} -K^{+}B^{*}CF & -K^{+}B^{*}CH \\ F & H \end{pmatrix},$$

and finally we get

$$\begin{pmatrix} A & 0 \\ B & C \end{pmatrix}^{+} = (U + V)^{+} = \begin{pmatrix} K^{+}A^{*} - K^{+}B^{*}CF & K^{+}B^{*} - K^{+}B^{*}CH \\ F & H \end{pmatrix}.$$

In [2, p. 748, Theorem 6], C. Meyer has given a formula for (1)-inverses of partitioned upper block triangular matrices. Our theorem also accomplishes this task, since the Moore-Penrose inverse is clearly a (1)-inverse. However, since (1)-inverses are not unique, our results are, in general, different from those of Meyer. For example, if

$$M = \begin{pmatrix} \frac{1}{2} & 1 \\ 0 & 0 \end{pmatrix},$$

then Meyer's theorem yields a (1)-inverse,

$$M^- = \begin{pmatrix} 2 & 0 \\ 0 & 0 \end{pmatrix},$$

while our theorem yields

$$M^+ = \begin{pmatrix} \frac{2}{5} & 0 \\ \frac{4}{5} & 0 \end{pmatrix}.$$

At this point, we note the following identities, whose proofs are straightforward.

(3.1)
$$T = C*E$$

(3.2) If
$$R = I + S*S$$
, then $T^{+}TR^{-1} = R^{-1}T^{+}T$

$$(3.3) D^*A + E^*B = 0$$

$$(3.4) F = T^{+}D^{*} + R^{-1}S^{*}(K^{+}A^{*} - K^{+}B^{*}CT^{+}D^{*})$$

$$(3.5) H = T^{+}E^{*} + R^{-1}S^{*}(K^{+}B^{*} - K^{+}B^{*}CT^{+}E^{*}).$$

We shall assume throughout the remainder of the paper that M is partitioned as in (1.5). Moreover, we now consider necessary and sufficient conditions for M^+ to be upper block triangular, lower block triangular, and list at the end of the paper some special forms.

Corollary 1. $M^+ = \begin{pmatrix} X & Y \\ 0 & Z \end{pmatrix}$ if and only if $S^*K^+A^* = 0$ and $D^* = 0$, where S, K, and D are as defined in the theorem.

Proof. From the Theorem, we can see that

$$M^+ = \begin{pmatrix} X & Y \\ 0 & Z \end{pmatrix} \Leftrightarrow F = 0.$$

But from (3.4), we have

(3.6)
$$RF = RT^+D^* + S^*K^+A^* - S^*K^+B^*CT^+D^*$$
.

By the definition of F, we have

$$TF = TT^+D^* = D^*$$
 since $N(T) \subset N(D)$.

Thus F = 0 implies $D^* = 0$.

From (3.6), we get

$$S^*K^+A^* = 0$$
 and $D^* = 0 \Leftrightarrow F = 0$.

This completes the proof.

Note.

$$F = 0 \Rightarrow T = E^*E \Rightarrow T^+E^* = E^+ \Rightarrow H = E^+ + R^{-1}S^*(K^+B^* - K^+B^*CE^+)$$

Corollary 2 [2, p. 746, Theorem 4].

$$M^+ = \begin{pmatrix} X & 0 \\ Y & Z \end{pmatrix}$$

if and only if $N(A) \subset N(B)$ and $N(C^*) \subset N(B^*)$. In this case, we have

$$M^+ = \begin{pmatrix} A^+ & 0 \\ -C^+BA^+ & C^+ \end{pmatrix}.$$

Proof. From the theorem, we see that

$$M^+ = \begin{pmatrix} X & 0 \\ Y & Z \end{pmatrix}$$

if and only if $K^+B^* = K^+B^*CH$. If $K^+B^* = K^+B^*CH$, then $K^+B^* = KK^+B^*CH$, and we have $B^* = B^*CH$. Now $TH = TT^+E^* = E^*$ implies $C^*EH = E^*$. Thus $C^*CH = C^*$, and using (1.6) we get $C^+CH = C^+$, and $CH = CC^+$. Hence $B^* = B^*CH = B^*CC^+$, and $N(C^*) \subseteq N(B^*)$.

It can be shown that $H = T^+E^*$ and $F = T^+D^*$ if $K^+B^* = K^+B^*CH$. Thus

$$FA + HB = T^{+}D^{*}A + T^{+}E^{*}B = T^{+}(D^{*}A + E^{*}B) = 0$$

by (3.3), and we get

$$(3.7) FA = -HB.$$

Note next that $BK^+A^*A - BK^+B^*CFA = BK^+A^*A - BK^+B^*C(-HB)$ by (3.7). This last term is the same as $BK^+K = B$. Finally, $(BK^+A^*A - BK^+B^*CFA)A^+A = BA^+A$ yields $B = BA^+A$, which is equivalent to $N(A) \subseteq N(B)$.

On the other hand, it is straightforward to verify that when $N(A) \subseteq N(B)$ and $N(C^*) \subseteq N(B^*)$, then

$$M^+ = \begin{pmatrix} A^+ & 0 \\ -C^+BA^+ & C^+ \end{pmatrix}.$$

We note that if M is invertible (i.e. A and C are invertible), then

$$M^{-1} = \begin{pmatrix} A^{-1} & 0 \\ -C^{-1}BA^{-1} & C^{-1} \end{pmatrix}.$$

Suppose A = 0. Then M^+ is lowerblock triangular if and only if B = 0. There are many special cases which can be derived from corollary 2.

In conclusion, the following special results can be obtained.

(3.8) If
$$K^+B^* = K^+B^*CH$$
, then $K^+A^* - K^+B^*CF = A^+$, $F = -C^+BA^+$, $HC = T^+T$, $H = C^+$, and $S = 0$.

(3.9)
$$M^+ = \begin{pmatrix} A^+ & B^+ \\ 0 & C^+ \end{pmatrix}$$
 if and only if $B^*C = 0$ and $AB^* = 0$.

(3.10)
$$M^+ = \begin{pmatrix} A^+ & D^+ \\ 0 & C^+ - C^+ B D^+ \end{pmatrix}$$
, where $D = B - C C^+ B$ if and only if $AB^* = 0$ and $C^+ B = C^+ B D^+ B$.

(3.11)
$$M^+ = \begin{pmatrix} A^+ & PC^+ \\ 0 & C^+ - C^+ B P C^+ \end{pmatrix}$$
 where $P = Q^{-1} (C^+ B)^*$ and $Q = I + (C^+ B)^* (C^+ B)$ if and only if $AB^* = 0$ and $N(C^*) \subset N(B^*)$.

Acknowledgement. The second author would like to express his appreciation to Professor Miroslav Fiedler for introducing him to this problem and for helpful discussions.

References

- [1] Cline, R. E., Representation of the Generalized Inverse of Sums of Matrices. SIAM J. Numer. Anal., Ser. B. 2 (1965), 99-114.
- [2] Meyer, Carl, Generalized Inverses of Block Triangular Matrices, SIAM J. Applied Math. 19 (1970), 741-750.
- [3] Meyer, Carl, Generalized Inverse of Triangular Matrices, SIAM J. Appl. Math. 18 (1970), 401-406.
- [4] Rao, C. R. and S. K. Mitra, Generalized Inverse of Matrices and its Applications. John Wiley and Sons, Inc., New York, 1971, pp. 21, 67.

Authors' address: Department of Mathematics and Computer Science, University of South Carolina, Columbia, South Carolina 29208, U.S.A.